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1. 	 A 	 (12.5, 8.5)
	 B 	 (10.25, 12.5)
	 C 	 (9.5, 15)
	 D 	 (7.5, 15)
	 E 	 (4.75, 12.5)
	 F 	 (2.5, 9.5)

2. 	 angle = arctan (y/x)

	 angle A = arctan (8.5/12.5) = 34 degrees
	 angle B = arctan (12.5/10.5) = 50 degrees
	 angle C = arctan (15/9.5) = 58 degrees
	 angle D = arctan (15/7.5) = 63 degrees
	 angle E = arctan (12.5/4.75) = 69 degrees
	 angle F = arctan (9.5/2.5) = 75 degrees

3. 	� As compared to 33, 51, 57, 63, 69, 75 degrees, these results are most remarkable 
for ancient biblical people whose ziggurat at Ur, or Tower of Babel, was not 
confounded in math, only in speech.


